
Station 2 (Lösung)
Aufgabe 1:

x

f  x ∣ −1

29 ∣ −0,75

17,5977 ∣ −0,5

9,8125 ∣ −0,25

4,8477 ∣ 0

2 ∣ 0,25

0,6602 ∣ 0,5

0,3125 ∣ 0,75

0,5352 ∣ 1

1 ∣ 1,25

1,4727 ∣ 1,5

1,8125 ∣ 1,75

1,9727 ∣
x

f  x ∣ 2

2 ∣ 2,25

2,0352 ∣ 2,5

2,3125 ∣ 2,75

3,1602 ∣ 3

5 ∣ 3,25

8,3477 ∣ 3,5

13,8125 ∣ 3,75

22,0977 ∣ 4

34 ∣
Aufgabe 2:
1. Das Bestimmte Integral von  f x  von 

1  bis 2,5  berechnen:

∫
1

2,5

x4− 6 x3 12 x2−8 x2dx

= [ 15 x5− 3
2
x4 4 x3 − 4 x22x]1

2,5

= 3,4375−0,7 = 2,7375 FE
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